®

D/‘

MATABA - ASSent 1,

N Y= 2xy?*

W= 2y = fdy =§12x ax
ql

ax ,
-1 - X*¥C =|(y= =1 7
Y X2 +0

[t70] (e de- 2xy dy=0  y(D=2

Mo dx+ Naayay = 0
MAXAY) = QT Ay = A" (P+ ) = 2" Mxy)
NOXGAG = 20() = X (2xy) = AN )

ﬁb]"’ux aM- Xauy + udy U=y

x

(x> + Wx*) ax = 232U [xdu+uoxl=0

/ﬁ (1+u=dx— 2¢>y [y du +udx\=0

(1+u*)dx - 2xu dd —2u*dx=0

(1=u*)dx - 2xy du =0
24 A = (1-u*)adx

gQUdM:SQX - 1-y*=V =ﬂ>§-_@1=-g_d_&
-u?) J X 20 du = -0l v X

=10 (1-u*) = In Ix| +¢, |

~In (X () ¢

’\ﬂrx— N+C=0 = X-(4*+¢°=0 > (J*= x2+ xe°
€ ( ’L’“@ ?LL (2%"= () +0)e

4=1+¢°
)qle )(2—+{'>X \ "ecf BL

[/ SU—————

(

C



PRI, 2

T_Tﬂ X(2X+y")+ 42+ 24y =0
X(QX ) dx + (x> +2q )dy -0
M) dy + ch Y dy=0

My, x%) >N 0« Y)
NQ, A = N

gé‘\’q=u>< ay= xouy + udx
%(2x’~+(ux)")dx + UYOE+2Wx)) Ixdu +uadx1=0

(o + ) Ay + (W + 20y Dxdut udel -0
Q2+ um)dx + (W + 2uPX)du + (U + 20N dx =0
D(1+ur+ut) de + x (Ut 203 =0

201+ ur +Uh) dx = =X (U + 207w

~2ON - (U+2u3) du = 1+urtut=v

RN GU R U+ AL =N - u+2u”"%Y‘
5%5—20% (v -b—QSQ}(_____J_SQ_\L
X ) 2N X 2N

—2 0 x| = o (Huw=ut) = In (+uz+ut)+ In ) =

2
0 (@ +u> +u‘*)x“') ¢,
Nl SN )“5><“> =g+ yt = ol




é/(,l(x) A L) =YX <T)

FE1.00] (- 2y)ax + x dy = O

M--x’-—lq N= ¥
oM -2 N=1 =>-D+1
oy 0%

facteur d' mmmﬂo(\
| H#:Nx - (=2-1) - —% = f)
N X

dx amx -3

X3
//de+,u1\1dq= g4 dy + x dy -0
g o+ 4 d;q O

uoLw=§ L dy +Te) = 4+ T
X?—

2

kab(,bI) = f;g —FT'(X> "’@- Q_g
K

% X
gT'oc) =S“1" To) = 01X
X
Ulx, \p \mx\ = &

& P l

Dl 3



DL 4

9 i

L()HS\n X + 310 q)dx + 008 Yy dq O
M= x+sm+smq N- oosq
M\l\ COS\.‘ Mx

ng - Cmy-0 = 1= %)
N N co;/g\, -
/utx) e '™ =X

’/u May + /uqu ﬂx(x+5\nx+3\n®dx+ﬂ oosqaq =0
W) = S eXos y dig + T = T |

U LY = E“S\ﬂi oc)- U,x+€"sm‘x e“smq
(T = x\’-l X+ %\ Feu' = w —fuy

O u=x = de < § X dy ><€~3 1-e* oy
du—mw 198 = Yer-ef =e"(»<—1>

@ (e™sinbx =€ (asinbx -baos b)) +C
, @ _‘_bl
-==D3€ SN0 de = € (5ihx—00s X) +C

¢ SNy + eX(x-1) + 2" (Siny-cosx) = C




DL

. L_/_\ 2y -
%q HROOY =7 =+ foo= 2
)= eSER e -y

[l

E(Mq)'*ur(x) = (wq}'x 12%* + ¢

(123 d% + O
x_%(x) 4;{’ +C

@
»)

:\g\(x) 4y, _:C/’/%cﬂ”



. F.D| Xn+1 ’QQQ \ qodzggz;"g , Yo =2
2

g o] =|-cos v sin x|
-\—__\__ S0 1x\ < _li.

2

Xo = 2,000000
X = (O (.\(o) = 0,086°5EA
‘ 2
Ko~ (2 () = 0490261
,, 2

X’J = .-. = O|Q>6bb45
Xq= -..= 0428004

Xe = ... = 0412524

L0 Sowfon exacte 0S|
qm- - 4 90 2(p) - ~0,370793 #0O

L'ordre 0 convegence [1]



DI #

. .40\ )= 2x—Tan ) | Ty =0 | Xo=1

A )
AR ') = 2-9e¢* X
Yn+1 = ¥n— 2¥n -dany, = g(x)
e . N 2 - 3% X
T \“7

Yo = 1.000000 |
X'\"‘ X o ~ 2% ~T0NXe - 1, 3\04:}6 01?7104:}6

2_'59(} Xo j

o= 1,22229 0,086549

Xe= 1, 17005 0,047
. Xq=1,16R27 0,010124

Xo=1, 105562 0, 000355

X =1, 165361 0, 00001

Xg =1, 65201 0, 000N

 Soion exocte [ - 15561
()= 2- k) - ~ 443412 # O

PR

OQQ&Q de conveoence |2 |




